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Bagging Boosting
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Hunt Hunt ID3

C4.5 CART  

1  

2.1 TreeGrowth

E F 7

11 12 1  

1 createdNode()

node.test_cond node.label  

2 find_best_split()  

3 Classify()  

4 stopping_cond()

 

2.1   

   TreeGrowth(E,F) 

1: if stopping_cond(E,F)=true then 

2:   leaf=createNode() 

3:   leaf.label=Classify(E) 
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4:   return leaf 

5: else 

6:   root=createNode() 

7:   root.test_cond=find_best_split(E,F) 
8:   V={v|v root.test_cond } 

9:  for v V do 

10:   Ev={e|root.test_cond(e)=v e E} 

11:   child=TreeGrowth(Ev,F) 
12:   child root root child v 

13:  end for 

14: end if 

15: return root 
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2.2

 

if then 2-1

 

R=(r1  r2 rk) R ri     

 

2-1   

r1 = =  

r2 = =  

r3 = =  

r4 = =  

r5 =  

 

ri:(  i)  yi 

 

i= (A1 op v1)  (A2 op v2)  (Ak op vk) 

(Aj, vj) op {=, ,<,>, , }
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(Aj,op vj)    

yi  

r x r x r

r 2-2  

2-2   

                               

       

       

r1 r1

r1  

 

1
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1  

X Y P(X=x, Y=y) X x Y y

P(Y=y|X=x) X x Y y  

2

X Y

X Y P(Y |X)

Y P(Y ) Y

 

X Y

P(Y |X ) P(Y |X ) Y X

2-3
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1   135 k  

2   100 k  

3   70 k  

4   120 k  

5   95 k  

6   60 k  

7   225 k  

X=( = =

=120k) P(Yes|X )

P(No|X ) P(Yes|X )>P(No|X ) Yes No  

P(Y )

P(X |Y ) P(X )
( | ) ( )

( | )
( )

P X Y P Y
P Y X

P X
                     2-1

Y P(X ) P(Y )

P(X |Y )

1  

 

 

X Y Z 3 Z X Y
( | , ) ( | )P X Y Z P X Z  

Y  

P(X,Y | Z)=P(X | Z) × P(Y | Z)                   2-2

2

Y  

1
( ) ( | )

( | )
( )

d

ii
P Y P x Y

P Y X
P X
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SVM

SVM

SVM  

support vector machine SVM 1995 Cortes Vapnik

SVM

SVM

OCR

SVM

SVM

Support Vector  
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